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QUESTION 1
Which is the correct priority of assigning a mapping variable?

A. Workflow parameter file, session parameter file, pre-session assignment, repository value, declared initial value,
default value

B. Session parameter file, workflow parameter file, repository value, declared initial value
C. Repository value, workflow parameter file, pre-session assignment, session parameter file, default value
D. Repository value, declared initial value, default value

Correct Answer: A

QUESTION 2

Given the picture shown below:
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Identify all of the true and correct statements listed below. Note: The red (or gray) arrow points at the line in question.
The line on the left hand side of the picture which connects PRODUCT TO PRODUCT_COST : Choose 2 answers
A. Describes a LEFT OUTER JOIN between PRODUCT AND PRODUCT_COST

B. Describes an INNER JOIN between PRODUCT AND PRODUCT_COST

C. Describes a secondary data flow needed for a sub-select process between PRODUCT AND PRODUCT_COST
D. Can be created within Informatica PowerCenter

Correct Answer: BD

QUESTION 3
An Unconnected Stored Procedure can run in the following fashions?(Choose all that apply) Choose 3 answers

A. From an expression
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B. As a Post-Session SQL command
C. As a Pre-Session SQL command
D. As the only object In the mapping

Correct Answer: ABC

QUESTION 4

Which statement on workflows is correct?

A. In a default configuration, a workflow must contain at least one session task

B. A workflow can contain multiple start points

C. In a default configuration, a workflow parameter file overrides all parameter files in underlying sessions
D. Another workflow cannot be executed from within a workflow

Correct Answer: C

QUESTION 5

How does a single joiner transformation join data?

A. From 2 pipeline inputs

B. From 3 pipeline inputs

C. From n number of pipeline inputs assuming you have purchased the N-Joiner Option
D. none of the above

Correct Answer: A
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